Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - SUMMER-2017

Subject Code: 3352904 Date: 9-05-2017
Subject Name: PRODUCTION PLANNING
Time: 2.30 TO 5.00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Q.1 Answer any seven out of ten. €2l SlEUBRL Ulctotl scllol UL,
1. Convert in to Metric count of 30Ne count.
1. 30 acllal 51Goe A N5 s1GoeHl ¥R
2.  Define denier count.
2. 3oflaR s1Geell calluvaul w.
3. State denier count of 50° Ne.
3. vo Saclal sleat 5162 oll 3o{l2R 5162 Ul
4.  Find out length of yarn on bobbin if yarn count is 30s Ne and weight of yarn
on bobbin is 50 grams.
¥.  ollollet UR oll Alel oll 51Bo2 30s Ne ol cloet 509UH &lal dl A el
ol doutes .
5.  Define the term Heald Count.
w. 8les s1Ge2 ofl cautuvall wl.
6.  Calculate the resultant count if two yarns of 40s Ne and 60s Ne are doubled.
S.  40°Ne el 60° Ne oll lol of SUAldL scUMl UAD Al Aol Ko
51Go2 20t
7. Define the term Reed Count.
9. 3S 5182 ol catvaul AU
8.  State the importance of gearing technique in textile industries.
¢. cerese Galol Hi ollauloL 2slas of Hecct Al
9.  If the hank of feed material of carding machine is 0.0016 and hank of

delivery material is 0.16 than find out the draft of carding machine.
¢.  stslot Hallat i ls Hllac ol 85 0.0016 wa slelladl Hdllac

all 85 0.16 8l Al stslol Hallet oll glge 2.

10.  If the hank of feed material of speed frame is 0.168 and hank of delivery
material is 1.35 than find out the draft of speed frame.

0. wls & Hi gls HBElad ol 85 0.168 wal slAlall HZlRlad o &5
1.35 8l Al *Uls FHoll slge 2.
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Find the average count of mill from the following data:
20s Ne = 1100 Ibs production, 30s Ne = 1200 Ibs production, 40s Ne = 1300
Ibs production.

LAt 32t UR ol Hletell ARy 51Go2 QL.

20s Ne = 1100 Ibs production, 30s Ne = 1200 Ibs production, 40s Ne = 1300
Ibs production.
OR
Calculate time required to fill up one can in carding machine from the
following data.
Doffer diameter: 27" Doffer RPM: 25 RPM
Weight of card sliver:100Kg Hank of card sliver: 0.016
Tension draft between doffer & coiler cal. Roller: 1.08
Efficiency: 80%

o(lAoll Eldl uR el stshor Hallot Ui As 3ol ARAAl 32l UHA
AL A .

SIgR oll staHleR: 27 8u SIgR R ULAM.: 25 RPM

518 RAUBAR o coel :100 Sl 518 AUBAR &o5: 0.016

S1$R ol STAR A5 AAR cARAell So2lel $lS2: 1.08

sglflacl : 80 %

Calculate No. of spindle of speed frame required for the production of 1200
Kg of Roving per shift from the following data.

Speed frame department:

Spindle speed: 1000 RPM Hank of roving: 1.35 TPI: 1.3
Draft: 8 Efficiency: 80% waste: 0.5

As Alge Hi 1200 Lo Aot of Geuleat sall 2 Fecl ¥ls
Wlosd AW A oAl 1Sl uell 20t

Speed frame department:

Spindle speed: 1000 RPM Hank of roving: 1.35 TPI: 1.3
Draft: 8 Efficiency: 80% waste: 0.5
OR

Calculate required No. of Ring frame spindles for production of 1950Kgs of
30s carded yarn per shift from the following data.

Ring frame department:

Spindle speed: 15000 RPM TPI: 25 Draft:22
Efficiency: 90% waste: 3%

30° oll 5lBoeoj As 2lls2 Ui 19505l GaUlest Aoclall M2 32El
oL 5H osAH SR A o1 Aol Ml A ul 208,

Aot U SlwéAee:
Spindle speed: 15000 RPM TPI: 25 Draft:22
Efficiency: 90% waste: 3%

Calculate time required in minutes to fill-up one can in drawing frame from
the following data.

Speed: 650YPM Weight of draw slivers in can: 15 Kg
Efficiency:90% Hank of draw sliver: 0.15
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o{l Aol HISLAl uR &l Q1-5H Hl A5 3ol ARl 32l AHA AL A
RIEEEENNE

Speed: 650YPM Weight of draw slivers in can: 15 Kg
Efficiency:90% Hank of draw sliver: 0.15
OR

Calculate time required in minute and hour to exhaust one can on speed
frame from the following data.

Spindle speed: 950RPM TPI: 1.2

Weight of sliver in can: 10Kg Hank of draw sliver: 0.15
Draft between FR and BR: 10 Efficiency:85%

ol Aol HELA uR ol 2Uls-5H Hi A5 Fotl WICl Ul 32 uHA

AL A Al W sclts Hi L.

Spindle speed: 950RPM TPI: 1.2
Weight of sliver in can: 10Kg Hank of draw sliver: 0.15
Draft between FR and BR: 10 Efficiency:85%
Calculate the production of warping machine in lbs/shift from the following
data.
Warping speed = 800 m/min, Efficiency = 60%, No. of ends = 450, Yarn
count = 50s Ne
o(lAall flotcdl uRell cudllot Hellot of Geuleot Ibs/shift Hi 20
Warping speed = 800 m/min, Efficiency = 60%, No. of ends = 450, Yarn
count = 50s Ne

OR

Calculate the production of rotor in kg/rotor/shift from the following data.
Rotor speed = 60000 rpm, Yarn count = 7s Ne, TM = 4.7, Efficiency = 90%

A o{lAell lotcl uell A2 of Geuteat SLoUL /A2 /utofl Ui 20

Rotor speed = 60000 rpm, Yarn count = 7s Ne, TM = 4.7, Efficiency = 90%

Calculate time required to exhaust one Ring bobbin on winding machine
from the following data.

Count: 40 Ne Speed: 1000 YPM Efficiency:80%
Weight of yarn on Ring bobbin: 80gm

LAl HELA uRell cteSoslot Hallot Hi As Aot Qellot vl Ul

2l UHA AL A k.

Count: 40 Ne Speed: 1000 YPM Efficiency:80%
Weight of yarn on Ring bobbin: 80gm

OR
Calculate time required to build one cone on winding machine from the
following data.
Speed: 1200 YPM Weight of cone: 3Kg
Count : 40 Ne Efficiency:80%

ol Ae(l HIEl Al Rl clleSoslot Hallot Hi AS Slot MR 32l UHA

AL A 20Ul

Speed: 1200 YPM Weight of cone: 3Kg
Count : 40 Ne Efficiency:80%
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Calculate weight of warp and weight of weft in a given piece of fabric from
the following data.

TL: 108 yards PL: 100 yards RS: 50"
Weft count : 50Ne Warp count: 50Ne Picks/inch: 80
Reed : 76° selvedge : % inch on both side

No. of Ends/dent: 4 for selvedge and 2 for body fabric
ol Aol flotdl wRell MUt $ofls UlAHL QAU wad Ase o coset .

TL: 108 yards PL: 100 yards RS: 50"
Weft count : 50Ne Warp count: 50Ne Picks/inch: 80
Reed : 76° selvedge : % inch on both side
No. of Ends/dent: 4 for selvedge and 2 for body fabric
OR

Draw lay-out plan for the following machines.
(1) 06 Cards (2) 10 Air-jet looms

o{lAetl H2llell HI2 A-uGB2 €L
(1) 06 Cards (2) 10 Air-jet looms

Calculate the daily production in meters of water jet loom from the following
data.
Loom rpm = 1200, Efficiency = 90%, PPI = 64; working time: 24hrs

o{lAell flotdl uRell lzR-B2 (U of (B of Beutest 2R Hi 2L
Loom rpm = 1200, Efficiency = 90%, PPI = 64; working time: 24hrs

Calculate the production of a sizing machine in kg/shift from the following

data:
Sizing speed:60 m/min, efficiency:50%, No. of ends :3550, Count: 10Tex

ol Aol flotdl uRell Asoflot Hallot of Geuteat sLow./woll Hi 20
Sizing speed:60 m/min, efficiency:50%, No. of ends :3550, Count: 10Tex

A fabric is composed of 36 Ne weft yarn with 50 picks per inch; and 36 Ne
warp yarn with 50 ends per inch than calculate the cover factor of the fabric.

A5 s1US ol Aol flotdl &l Wad B A Agf saR ¥522 2.
Ase 51Ge2:36Ne wal PPI:50 , AU 51Go2:36Ne Wl EPI:50
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